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1. a. Please explain the meaning of Weak Axiom of Revealed Preference(WARP)

and Strong Axiom of Revealed Preference(SARP).
b. Consider the following data which is a consumer’s choice when he faces

different price sets:

A: (p1,p2,p3) =(1,3,10) and (x1,%2,%3) =(3,1,4)

B: (pi;p2;ps) = (4,3,6)  and  (X1,%2,%3) = (2,5,3) |

C: (pup2p3) =(1,1,5) and (x1,%2.%3) = (4,4,3)
Does the consumer violate SARP and WARP? Please explain in detail

2. a A monopolist is operating at an output level where demand elasticity |g[=3.
The government imposes a quantity tax of $6 per unit of output. If the demand
curve facing the monopolist is linear, how much does the price rise?

b. What is the answer to the above question if the demand curve facing the

monopolist has constant elasticity?
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3. Please answer the following questions about labor market. !

a. What are the definitions of labor force and employed population in Taiwan? (6%)
b. Please explain how to calculate labor force participation rate and unemplomen
rate? (4%) ]

c. In Taiwan, male’s labor participation rate has decreased about 10% over ithe last

three decades. On the contrary, female’s labor participation increased 10% du:';ing the
same period. Please provide at least three explanations for this phenomenon. (9%)
d. Let U be the total unemployed population, and E be the total employed population.
Define job separation rate () as the percentage of population in E who quit their job
and define job finding rate (f) as the percentage of population in U who find a job ina
given period of time. Under the above definition, we can express the chénge in
employment population in the given period of time (AU) as ‘
=sE—fU. l
Lastly, we define the natural rate of unemployment as the unemployment rate such
that AU = 0. Please show that the natural rate of unemployment is equal to s/(s+).
(6%) !

4, Please answer the following questions about monetary market and inflation.

a. Please show the definition of M;B and M, in Taiwan. (6%)

‘b. You are given the following macroeconomic data of country A: the GDP growth
rate is 4%; the money supply growth rate is 6%; the nominal interest rate is fixed at
3%. Suppose the estimated money demand function in country A is (M%/P) = K*(Y/R),
where P is the price level; Y is the real GDP; R is a fixed nominal interest rate; and K is a
constant. Please find the inflation rate in country A. (6%) ' '

c. The above question continued. Suppose the new president of central bank in c'ountry A
predicts that the GDP growth rate in the near future will decrease to 1%. To remain a '
stable inflation rate after the slowdown of GDP growth, what the level of th!e money
supply growth rate should he set? (6%) '

d. Base on his research, Milton Friedman, a famous economist and Nobel Prize
winner concluded that: Inflation is always and everywhere a monetary phenomenon.
Can you use an IS-LM framework to show Friedman’s idea? If yes, please show how.
If no, please explain why? (7%)




